
Product.: Lang

1. Seite

1
2. Seite

8

III.

I.

.

.

9

II.

6

7

Kreta

III.

10

4

I.

5

4

3

II.
5

2

15

14

36 37

38

6536-001A

6536-002A

5131-001B

M5x6 Hernyócsavar
2001-015

5135-085A

5135-085A

M5x6 Hernyócsavar
2001-015

5131-001B

M6x20 Hf
csavar

2001-111

6152-1121B

2002-007

2001-065
M8x25 Hlf csavar

M8 Hl anya

3490-002A

1982-019

6152-1122B

2001-017
M5x8 Sf csavar

M5x6 Bkny
 hernyócsavar

2001-015

5025-003A

8400-164B

9900-640

6152-1123B7925-566

9900-499

4911-086A

Belső használatra !

M6x25 Hlf csavar
2001-046

M6 Acél alátét
2003-005



Product.: Lang

19

19

20 20

20

22

21

2. Seite

23

20

18

Kreta

16

17

M5x15
Hernyócsavar

2001-015

1982-011

1982-011

1982-001 1982-001

1982-001

5540-161

1982-001

Belső használatra !

9900-639

5633-058

5633-029B

6611-166

6611-167A

2001-106
2003-003
M5 Alátét

M5x16 Hlf csavar

2002-003

2003-003
M5 Alátét

M5 Hl anya

2002-007
M8 Hl anya

M6x16 Df csavar
2001-042

M6 Alátét
2003-005

M10x14 Hf csavar
2001-070

M10 Íves alátét
2003-012



Kreta

Product.: Lang

Feuerraumauskleidung
(9900-447)

3712-112         1 Stück
6081-351         2 Stück
6081-352A      1 Stück
6081-353         1 Stück
6081-354         1 Stück
6081-355A      1 Stück

3. Seite

29

26

28

31

30

24

25
25

1.

8.
5.

2.

6.

3.

9.

4.

7.

27

Lage des Feuerablenkvermiculit

1. 9.
Reihenfolge:

6081-351
6081-351

6081-352A

6081-354
6081-353

6081-355A

3712-112

4725-056

5490-046

Belső használatra !



7

6

Product.: Lang

4. Seite

35

33

32

34

Kreta

11

13
13

12

IV.

5311-307E
5311-306E

5636-018
5636-018

M8 Önzáró anya
2002-020

2003-023
M8 Fakötéses alátét

2002-007

2001-065
M8x25 Hlf csavar

M8 Hl anya

3490-002A

1982-019

1982-019

4111-001

9900-439

2002-007

2001-062

M8 Hl anya

M8x16 Hlf csavar

2001-221
M3,5x9,5 Df csavar

6152-095A

Belső használatra !


